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Write the coordinates of the hexagon. 10 {
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Tommy is drawing a rectangle on a grid.
Plot the final vertex of the rectangle.
Write the coordinate of the final

vertex.

1a. Plot the following coordinates to make
an isosceles friangle:
Which is the odd one out? Prove it.

Y
54
(2.1)
4
3 (4, 1)
2 (1, 5)
‘ 3.2)
0

O = MNwWadN @O O

12345667 89107

1b. Plot the following coordinates to make
a square:
Which is the odd one out? Prove it.

s:: (1,1)

4 (1, 4)
3

(5. 5)
2

4,1)
1
% 1 2 3 a 5% (4.4)

4a. Plot the following coordinates to make

a hexagon:

Which is the odd one out? Prove it.
mf: (2. 0)
]
8 (1.2)
7 (2.7
&
5 (7.1)
4
3 (1.5)
2
1 (5.5)
% 7 2345678 910" (5.2)

Sa. Ava is drawing a hexagon. She has
plotted the first two points. What
coordinates could complete the shape?

¥
10w

O =k b&inhedD9

01 23452678910

4b. Plot the following coordinates to make

a hexagon:

Which is the odd one out? Prove it.
104 (3.8)
]
8 .7
7
. (5.7)
s (7. 2)
4
3 (1. 4)
2
1 (5. 4)
i z3as5e78 710" (3. 3)

Sb. Dan is drawing a pentagon. He has
plotted the first two points. What
coordinates could complete the shape?

¥
104

S = b hine B B

0123456?8'!]0:
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7a. Plot the following coordinates to make
an octagon.
Which two are the odd ones out? Prove it.

y 6.7
204 (6.7)
18 (10, 19)
14 (6.19)
14 (10, 7)
12

14,20
10 ( )
s (15, 7)
4 (4.15)
4 (12, 11)
2 X (4.11)
022 ¢ e101214161820" (12, 15)

8a. Sadia is drawing a heptagon. She has
plotted the first two points. What
coordinates could complete the shape?
¥
ml-
18 o
14
14
12
10
8

F Y
]

(=2 SO

0 2 4 &6 8101214161820 "

7b. Plot the following coordinates to make
an octagon.
Which two are the odd ones out? Prove it.

20}, (3.2
8 (7.2)
16 (1. 6)
14 (1. 10)
12
10 (12, 2)
8 (3.14)
& (9. 10)
4 (7.14)
2
0 (7. 6)

02 4 6 81012 H-'IlEtan:ZEJlt

(11, 15)

8b. Logan is drawing an octagon. He has
plotted the first two points. What
coordinates could complete the shape?

204

0 2 4 6 8101214161820

Reasoning:
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01 2 3 4 5 6 7 10 11

(7, 8) are coordinates of a point on the line

Tick (') which of these are coordinates of other points on the line

(3, 2) |:| (9, 10) I:I (5, 4) D
(4, 2) |:| (10, 9) I:I (7, 9) |:|

How do you know that point (11, 12) would not be on this line?

A, B, C and D are the vertices of a rectangle

A and B are shown on the grid

0 1 2 3 4 5 6 7 8 9 ¥
D is the point (3, 4)

Write the coordinates of point C.
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Purple Mash: Coordinates |
Rock Stars: You should be able to recall all of yowr timestahbles.

Tuesday
LO: Four Quadrants

Which quadrant is which? Where do I plot the points?

10
9
5
7
Quadrant 2 6 Quadrant 1
5
eg: (-2,2) K eg: (2,2)
3
2
2 109 8.7 654321 ‘123456678691
>( - - .1
origin .2
(0,0) -3
-4
Quadrant 3 . Quadrant4
7
eg: (-2,-2) s eg: (2,-2)
9
-10
Y axis
What are the coordinates?
10
9
] 2l 20
T -
; sH % e
5 [} ’
4 (9.) (_9,
3 [ J
ST (68) .
£ 10987654321 011 23456678910 2 1098765432
x A >
-2
.3
.4 (R
s
2
24-10-9-0-7-6-5-4-3-24 °1‘l 2 3 45 6 7 8 910. %:10-9-8-?-6-64-3-2-1
o 3 )
. *
(-3 .
[-91 ° ::
(-7,m)
=

X axis
1st

o>
y axis

2nd

-
=]

>
“NWbHEOON®O

-1.‘)12345878910
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o
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12!45878310
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Which set .of questions will you solve?

Namc the Shapc:

Plot: (2,-1), (-1,-1), (-2,3)

Plot: (-1,-1), (-1,3), (3,3), (3,-1)
Namc the 5|'|apc;

SN S ——

y_-axis_

sy

] a
L L

¥
=

| x-axis

- x-axis

Guestion 1

Plot the following co-ordinates on
your grid. [remember to use a
ruler!)

A (5, 2)
B (4, 4)
C(-1. 2)
D (-2, -3)
E (2. -5) Join E back to A

What is the name of this shape?

Question 2

Plot the following co-ordinates on
your grid. (remember to use a
ruler!)

A3, 5)
B (0, 6)
C (-3, 5)
D (0, -5) Join D back to A

What is the name of this
quadrilateral?
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: c
..... yaxis Plot the following co-ordinates on 4 4
...... . | . N . —-——— your grid. (remember to use a J A
...... fEREE AL f ) ruler!) H——t3¢—+—119
: D B
------ =TT T A(-2,5) B(2,5) —t—t—e 2 -—+
01140100 10 00 I 000 o RO c(43) 0@,
% S5 4 a3 a2 -: 3| 20 9 4| 3 ¢ o E(Z‘;s) F(.z‘.S) -K ' . 1 ' '
""" BN EEEE G(-4,-1) H(-4,3) +
...... - + + + + + 4 "OI % A —4 -3 -2 —1 1 2 3 4
...... ] A ] nHto ——e—+14———+—oH
""" S B s e What is the name of this shape? E G
...... ~ | e U 1) S e . : : -2 o
= F
[} 3
7_74-4 PHET SEN NN W=
Wiite in the coordinates of the points marked -
Ais( , ) Bis( , ) Cis( ., )
Dis( , ) Eis( ., ) Fis( ., )
G < ) ‘Mi( 5 ) Jisl 5 )
Kis( , )
Mark in these points and their letters -
Pat(1,4) Qat(3,1) Rat(3,2) Sat(1,71)
Tat(0,73) Vat(1,0) Wat(4, 3) Xat(3,3)
Yat(1,72) Zat(2 4)
Layla draws a square on this coordinate gnd
Three of the vertices are marked
_—
i
6
" :
4 "
3 M
2 o
2 g
1 o8
T— o Zw
- . - E
4 5 4 -3 -2 40 1 2 3 4 5 6 * 3
1 _l n.
| §
_2 §
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1 -4 % 1
. e f
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r 8
What are the coordinates of the missing vertex? g a g
g ~ =] g
>~ 8 s
¥ o]
( 4 ] E E
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Wednesday

What is a translation? !

A translation is when .a

shape mownes from one
position to another without

being rotated .or [lipped. 5 4 3210 1 2 3 4 5

N W B~ n

=3

On this grid, rectangle A -2
has heen translated to -3
position B. A
-5
Which one is a translation?
y y

1) 5 2) >
4 4
3

3
2

2
;

;

y 5 4 3 -2 10 1 2 3 & 5%

5 4 3 2 140 1 2 3 & 5 1
1 2
« -3
= -4
- -5

-5

This is not a translation bhecause the Y%Tmmabmmn
shape has heen rotated.
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How do we describe a

Aranslation?

To describe a translation, you have to say

how many squares it has mowved to the

left or right, and how many squares it
has moved up or down.

There is a point on (1,-1) to help me
translate shape A. Mowe triangle A.

The shape has heen translated 5 squares
to the le[t. Then 5 squares up.

What are the coordinates of the black point

shown .on shape B?

Which set of questions will you solve?

N W B~ W,

—

-5 4 -3 -2 A

0

1. Here i o quadnlotieral on o squere gid.
The shape is translated 5o that point A moves to point B,
Lircw the shape inifs new pasition.

L. Here is o rionghe o o squore grid,
The triangle is trarslated so that poiet A moves fo poiet B.
D the triangle in its new position.

1

)

Look at this shape: Which image shows a translation?

p A

The answerls

Describe HOW the shape
has been tronslated. How
many units

left/night/up/ down?

b

C

3. This irregulor hexagon bs tronslsted 3o that point A
maves to point B, Drow the shape in its new position,

4, This imegular decagon i transsted 50 that point A
ot 1o point B, Diow the shape in its new position

Start with this triangle:

¥

— s e am e

[NERERE

X

Tranglate thé trianghe up 3 and right 3, Which Is the resulting triangle?

N

i' i
L i
L i
) )
[
! I

J

¥

/.

D 1IXANE B 120458

A

[BEFEERY ]

C

The onswer st
Why lsn't i the other 2
pletures?

Tt lsn't ___ becouse

Tt lsn't ___ becouse
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1 Hert i quodriterd on o square grid 2 Hortis tringhe onspare grid. ’
Theshipeis ot ot ot A s oot | Therge s ated o et pot Ao et . || gV Describe how the triangle on the left, has ¢}
Draw the shape in ts new position hﬂlh’ﬂ*nlﬁlﬂm [ been translated to create the diagram on 5
4 the right: 4
3 3
2 2
I ' x ! x
f 0123456 0 123456
4.
Y ,
i o of!
A s Describe how the triongle on the lef*, has :
i 4 been translated to create the diagram on
s W e e e o i (LT —p been rn iog X
wlmmw“m-’ 3 e right:
gl rght e " 3
1 e 1 o
0123456 0 123456
5.
Describe how the triangle on the left, hos
been translated to create the diagram on
the right:
I —
3
of’ Describe how the triangle on the leff has  g}”
5 been translated to creste the diagrem on 5
{ § et Thsi : o ‘ the right ‘
lTrumgirhm Ww ”.'_” l nghhqmuww p{lﬂ \ 3
et} Dorfesqrniopsin syl baedgeatogstn | 2 2
. i e 1 .
0 113456 D 1231456
4
¥
¢ Y 6
s Describe how the triangl on the eff, has
4 been translated to create the diagram on 4
1 the right: 3
2 2
1 1
. E
0 123456 0123455—

VT TR———
s

e O s v
gl

Describe how the triangle an the left, has
been translated to create the diagram on

the right:
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Challenge
1
Here is a triangle drawn on a coordinate grid
“
6
5
4
3
2
1
4 5 4 3 210 1 2 3 4 5§ 6 ,
-1
-2
-3
-4
-8
-6
The triangle is transiated 7 right and 5 up.
Draw the triangie In its new position
|
Reasoning
On the grid there are three points joined by two lnes
yé
6
5
4
3
2
\ 1,
\
% 5 4 3 -2 \1 1 2 3 4 5 6
-2
-3
-4
-
-8

Lara plots another point on the grid at (-1, 2)

She joins the points to make a quadriiateral

Complete Lara’s quadniateral on the gnid

Use a ruler

Then Lara transiates the quadriateral 4 squares 1o the right.
Draw the quadriateral in s new position on the grid
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Purple Mash: 2| ogo
Rockstars

Thursday
LO: Rotati | Reflecti

What is a reflection?

o s all about looking at it in a .mirror.

o If a shape can reflect itself perfectly then we call
this a line of symmetry. Ln other words its the

e You can be given a line to reflect a shape owver.

Draw the reflection of the shaded shape in the mirror line. R um n /tb

 The hest thing to do for
reflection. is. ko count the number
of sguares from the line each
corner (wertices) are and draw
A Aot

/"/\——\\\ mirror line All AyouL haove to do then is
A \ connect the dots .on the other

Z____// \\\A._;L\ )S,Ld.z ,U; ul@ J.U'lﬂl
 Try this one:

Rotation: A shape can be rotated .about .a point either
clockw.ise .or .anti—clockw.ise.

Which .one has been rotated?

- d P
d | d g P

—~

Here's .a shape:

|/
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Rotate the shapes 90 degrees .clockw.ise:

L(A

Drow the r Lo
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Draw the r Ik
1. ' 2. N 3.

I ol e e
i P I T
: . | P I T e e e e G G G
: - l LS - - - - -
_= & l P ?
I C |
M . . "

Rotate the shapes 180 degr clockwise:

B

Draw the reflection of the shaded shape in the mirror line Cubes have been stuck together to make this block.

The biock has a pattern on two faces.

I
The block is tumed to the position below.
Draw the missing parts of the pattem on it
. : == o~ = //' < //’”
P > - —
> X 4
A
rd
A ﬂ
A

' ' ( / )
p
mirror line 4

BurpleMash: Reflections
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Friday

LO: Arithmeti

1) 444,444 - 10,000 - 10,000 = 7)g 280 + g =

19) 112+ 62 - 4° =
2)40,915+8,998= 8) 90 x 900= 16) 40+ 7 x 40 =
3) ? +20,002 = 33,333 9) 4,000 + 800 = 17) 555,005 + 55,005 =
4)-25 + 46 = 10) 12 x50 x 20 = '!189))21[;039—-59.8=

11) 25,000 = 50 = ' -
5) 6,973 ) 20) 100,101 -9 =
x 3 12) 3,500 + 50 + 150 =
154.6 + 8.467 =
6) 900,202 13) 1227
- 88,890 14) 87-63
Challenge

In the circle write +, —, x, or = {0 make the calculation correct

8()3 x 5 = 3

Reasoning
5542 + 17 = 326

Explain how you can use this fact to find the answer to 18 x 326



